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(Exponential distributions) You are first in line to have your question answered by either of the
2 uGSlIs, Brian and Yiming, who are busy with their current students. Your question will be
answered as soon as the first uGSI finishes. The times spent with student by Brian and Yiming
are independent and exponentially distributed with (positive) rates Ap and Ay respectively, i.e.
Brian’s distribution is Exponential(Ag), and Yiming’s is Exponential(\y).

(a) Find the probability that Yiming will be the one answering your questions.

Y =
P(ves Aoy

(b) What is the distribution of your wait time? Your answer should not include integrals.
- =
W= mln (?)/Y) A PBet l)u’ )g,)

?(\)1)7\»> = ‘F Mg (‘5 7')”'3
= ?(\} >w, Em) Pﬁ;/:“b?_%;:\

= Q‘Y"‘"Q -

T\«\\A! ot \le (\[ '5\ as « sx\w'\tbﬂ-ﬂou, o
Poisdou Nocese e QIG'L rate )‘71‘)\5

—-



S ?(‘I»MMCYBXB P(ﬂ@ = »

-
Tl X\ RX\/\ we ‘mgl‘e_on Sfonendlaly

Wy Ve \ 7\
v A\
>

P (X = w (x, )x,,)) = N+t X

Nov- Weoue 5 65_,) ywx)va:\) &\c\lm Mﬁ\ RO\NQV)
Wovad ¥ Queunce \lm&w% doue -Cm—\ *"«e\q

\
'Encm MQ '\“'\94 EOWGM (k\quE/L ek;WwewUQ'A
W rebes N Sg, Ny ) 7

e PHCBER)

vy B8RYK
P (V= Mm,s,m g= b (BR)
«?(\zm\q(v,e® ? B= l,,(m | Vzemla (48 )>
/r—LL P ﬁ‘
Xy .o xe )
Pyl he e la

N— _




@ Sec 8. Mqva?/wl Sensies

Pecal Masrl grokallln,
De=trete ol
,Q@QL_P_VMM_
o > ot X A

7

\ \
= = o= S Plya)
2 c £() 3@27 2
{ A
21 0 : 3
YN [ S R R X
4 | M z
LR \  — Mg volp ot
0150 G Y= L
\/ D x<X 2
% )

Coubt o> @‘&\WQ, Mavv\\md &G\ASN»Q

—~ —Qxc’c\ Yo e kel

Liom Xxe D o X2
wdev H-€ 'xc\kw\.
Curve.

va CGy do P -[of
C\rﬂv‘ ) V2 uqh,e’







